R

por the following two (0Z) items :

Let o and p be the roots of the quadrage
equation
«2 +(logg.sla?Nx +(logg sla?)? = o

s gi =1 and Iﬂgq-glﬂzl >0 F‘urt]mr,
ﬂ? - u{l-ngﬂzl'ﬂ‘ ).

1. What is j equal to?
fa) log,2(0-3)
bl 1ogg.sla?)

&) 2(log,2(0-5)
(d) 2logg.sla®)

2. What is the relation between o and B?
fa) o =2{
fb) 20 =f
.JEJ/u = =28

{d 2 =P

For the following two (02) items :

Let p= E:Eﬂ];gglﬂﬂj and g= E’;’I]gglﬂ 54,

3. I p+g=66, then which one of the
following is correct?

fa) n<?7
fb) T<n<9
—e) 9<n<12
fd) n>12

TODC-0-MTH/44D

4. If p+q=15, then what is g - p equal to?

fa} logyp2-5
ib) E]GE”} 25

FC'J lﬂlng.ﬂﬂ-ﬁ

For the following twe (02) items :
Let sinA +sin B= p and cosA +cosB =g,

5. What is ﬁ equal to?

=

(5

fa) mn(

6. What is .
pT+q

fa) cos(A+ B

{b) cos(A- B)

(] ms{g - Er]

W[ﬂ-ﬂ-ﬂ}

| P.T.O.
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For the following two [02) items :

Let p=cosec 20° and q = cosee 70",

=
7. What is [}ﬂ = ;—?] cqual to?
fa} -1
) O
oidg
fd) 2

2 2

8. What is %—- equal to?
Py

(a) %

A

fc]

B3| Lo

d 2

For the following two (02) items :

43
Let cm[ﬂx+3y}=% and m3[3x+ﬂyl'-2—-

where -t < 2x + 3y) < n and -n < (3x +2y) < -

9. How many values does (x+ u) have?
fa) Two
(b) Three
Four

(#) More than four

TODC-0-MTH /44D

o L, L, R L P e L]

L kS L .
g i 3 - -7 A=
Y Ly -'.1‘-\.',"-_ % 51
W A R als

10. How many values does (y-X) have?

fz] Twao

(e More than four

11. What is the sum of the binary numbers
(101101101, and (10001137

,&Ml 10010000),
(b) (110001000},
fc) (110000100);

(d) (100100000},

12. Set X containg 3n elements and set Y
contains 2n elements, and they have
n elements in common. How many
elements does (X - Y)x[Y - X) have?

(@ Sn®
(b) an®
e} a3n?

2n

[ P.T.O.
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9. let  A={3-2-10123 .4
B={0 14, 9}, How many clements does

the subset of Ax B corres :

¥ ponding 1
relation R = {(x, y): x| E to the
xe Aand ye By

= ¥} have, where
fa) 9
) 12
(@ 15

(@ 16

14. Consider the following statements :

Statement=] :

If X is an nxn matrix, then
det[mX) = m™ det(X), where m is a
scalar.

Statement=I1 :

If Y is a matrix obtained from X by

multiplying any row or column by
a scalar m, then det(Y) = mdet(X).

Which one of the following is correct in
respect of the above statements?

fa] Both Statement-l and Statement-I1
are correct and Statement-ll
explaine Statement-

@) Both Statement-] and Statermnent-1l
are correct but Statement-Il does
not explain Statement-l

[c) Statement-l is  correct but
Statement=I1 is not correct

(d) Statement-] is not correct but
Statement-1] is correct

TODC-0-MTH /44D

1E. Consider the following statements about

T1 23 48
the matrixk M =) 57 28 29| :
65 17 48

Statcment-I : The inverse af & does not
exiat,

Statement=I1 : M is non-singular.

Which one of the following is correct in
respect of the above statements?

/™ Both Statement-I and Statement-11
arc  correct  and  Statement-lI
explains Statement-I

{b) Both Statement-I and Statemnent-II
are correct but Statement=Il does
not explain Staternent-I

fe) Statement-I s correct but
Statement-Il is not correct

fdl Statement=l is not correct but
Statement=Il is correct

16. What is

cot™! 9+ cosec™! [E]
4 |
equal to?
s
@ <
m
fde) 3
n
@ 3
fd) =

17. How many values of 8, where -x <8 < n,

satisfy both the equations coth = -3
and cosech = -2 simultaneously?

fa) 4
b) 2
(e} 1
(d) None

[ pP.T.O.
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18, If x +:_i' =2c0s88, then what

equal to? %

(@l cos®®
fb) cos3B
fe] 2cos 36

{d] 3cos38

=

19. If 0= x ==, then what iz the number

[ %]

of values of x satisfying the equation

tanx +secx = 2cosx P

@ O
) 1
€ 2
@ 3

20. What is the value of
1 —l[_ﬂ.]]?
tan[zaﬂc 73

(a) 2-+3
b) 2+43
fe) J3-1
(d) J3+1

TODC-0-MTH/44D

a q 1
iz x? 4 —
3

21. Which one of the following is the
perpendicular form of the straight line

J3x+2y=T7
@ y=-Lxs]
fh) & +_.!L.=]

r—
B =1
Nt

—_—
=
e

Sl
S
=]

5l

fc)

hli:ﬂ

(d)

Sl
=

22, If the vertices Band D of a square ABCD
are (2 3 and @4, 1) respectively, then
what is the area of the sguare?

fa) 2 square units
fb) 3 square units
fe)] 4 square units
(d} 8 square units
23. What is the value of sin8 if 8 is the
acute angle between the lines whose

equations are px+gy=p+g and
plx-yl+aqlx+y)=2q?

J3
(e} =

(b}

£

()

b | e

(d) G

[P.T.O.



24, The circle x2 4 y‘a —2hx -2k 4 k2 0
teuches the x-axis at p and
What is PQ equal tg?

-axis at Q.

fa) 2k
b} 2k

fe) 242k

fd) 4k

25. What is the distance between the foci of
the hyperbola x2 —ay? =17

fa) 3

26. Let p=a-b, g=a+b. If |d|=|bl=2
2 then what is the value

(b) /6
fe) 243

fd) 443

TODC-0-MTH /44D 11

27. How many of the following can be
o wvector perpendicular to both the
vectors 2i - j+ K and { + j+3k?

. 4i+5f-3k

. -8 -10]+6k
1 =

M. —(-4-5j+3k
5{:[ S+ 3k)

Select the correct answer.

el MNone

{B)  One

fe) Two

fd) All threc

28, What is the area of the parallelogram
whose sides are represented by the
vectors { +2)+ 3k and 2{ + j+2k?

fa) %JE_E square units

fb) %ﬁ square units

fc) +26 square units
(d) +27 square units

29, The position vectors of the vertices A, B,
Cand D of'a quadrilateral ABCD are
given by  3i+4j-2K, 4i-4)-3k,
2 -37+2k and 60 -2j+K respectively.
What is the angle between the diagonals
AC and BD of the quadrilateral?

(a) 90°
(b) 75°
fc) 60°
(d) 45°

[ P.T-C.



force F = 2] - G i
4. =2 - X {45 ig applied at the

F.u?nl AL 2 5, If its moment about the
point B(-1, -2 3 is 16§ - GJ+ 23K then
what is the value of A o

fa) -2
fb) 0
fo 1
fdy 2

31. W p* =q¥ =r%, where x, y and z are

in GP, then consider the following
statements :

l. p,gand r are in AP,
II. Inp,Ingand Inr are in Gp_

Which of the statements given above
is/are correct?

fa} 1 only

b} 11 only
fe)] Both I and 11

i Neither 1 nor II

32. If A and B are non-empty subsets of

a set, and A° and B° represent their
complements, then which of the
following isfare correct?

. A-B=B-A°

. A-B°=A -8B

Select the answer using the code given
below.

fa} 1 only

fb) 11 enly

fa} Both I and 1l
fd) Neither I nor I

TODC-0-MTH/ 44D
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35. If  (10+logyg X),

33. Let y=x! and z=[2x)1. If (z/y) =120,

then what is the value of [3x)17?
fr)  3G2BA0

flyy 181440

fe) 90720

fel]  A5360

d4. Lot n be a natural number. The number

al consecutive z=eros at the end of the
cxpansion of n! iz exactly 2. How many
values of n are possible?

fa) 3

b 4

fel 5

{d) More than 5
(10+log;p ) and

(10 +1og,, 2) are in AP, then consider
the following statements :

I.  The GM of x and z is y~.

II. The AM of log;; x and log,; z is
logyp U

Which of the statements given above
isfare correct?

fal 1 only
fb) 11 only
{@ Both I and II

fd) Meither | nor 11

[P.T.0
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g6. How many terms of the

. ‘ . .
o 12343 TEEROE 10 & sum cqual . iided by 138
fa) 111111711 fa) 10
®) 110000011 ::: Z
fe 111101111 i 6

fdl 111111111

40, What is the value of the determinant of
the inverse of the matrix

a7. How mﬂn}" terms Aare jﬂc“"ﬂﬂl in the =4 =5 -
two APs 19,21 23 .. up to 110 terms 2 2
and 19,22 25 28 ... up te 75 terms?
1
@) 35 o g
) 36 L
fe) 2
fe) 37
fd) 4
(d} 38
ag. If For the following tweo [02) items :
P [l e Consider the equation
- 2 abx? + bex + ca = cax® + abx + be

41. If the roots of the equation are equal,

then what is the value of '
then which one of the following 15

(14¢1? —a35)190 _(1- 3025 +0%%)%0? correct?
fa) ac=b?

iy = (b) a+c=2b

B = L1, 1
e a ) o b

fc) O
(c) %1-1 = Eh

fd} 2 ¢

TODC-0-MTH/44D 15 [ P.T.0.




42. Il the mools of (e e

LUTT R . ; P
then a, b, ¢ are iy mntion are equal, For the following twe (02) itema :

There are & points on a plane out of which

fa) AP 4 pointa are collinear.
fby apP 45. How many triangles can be formed by
joining these pointa?
feg HP
fer] 56
(@ MNone of the nbove ) 54
fe] 53
fel] 52

For the following two [02) items :

46. How many quadrilaterals can be formed

Let (6+ 10414 +... up to m terms)
by joining these points?

=[1+3+547+...up tonterms)

where m <25 and n <25, fa) TO
43, What is the relation between m and n? o
; fe} 53
| fal n® =mfm+1)
{d) MHone of the above
' ) n® =m(m+2)

' el n? =2m(m+1)
For the following two (02) items :

(d) n? =2m(m+2)
Let fix) = ax? + bx + ¢ be a quadratic polynomial

such that f(l) = f{#) = 2. Further, 2 is a root of
flx)=0.

44, How many values of m are possible?
47. What is the other root of fix)=07?

fa) None _ @ 1
b} One (b) 2
% Two fe] 3

{d) More than two (@ Cannot be determined

TODC-O-MTH/44D 17 | P.T.0.
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48. What iz (a +b+g) cqual o

fa} O
fb} 1
fa)
fe) 2
fb}
{d} Cannot be determined fe)
€
fel}

For the following two (02) items :
Let

= cosf sinb
—ginf :::::;E]
fa)
49, What 15 the value of the determinant of
the matrix A%7? fb}
i) 0O fe]
fb) 1 (e}

fc) cos48 -sindd

numbers

52. In a sample survey of a village,
probability that a farmer i3 in debt is
060, What is the probability that three
randomly sclected farmers are all in
debit (assume independence of events)?

1. What is the harmonic  mean of the

1o, 3, C0O0 4, <09 5,

c(10, 6 and C1G, 7) 7

3150/19
4000/ 19
252

225

the

0000216
0-064
0216

0512

53. The probability that a family owns a

(d) cos? 46 -sin® 48

laptop is 0-68; that it also owns a

desktop is 0-56. If the probability that
it owns both is 0-48, then what is the
probability that a randomly selected

50. What is [adj A]”' equal to?

family owns a laptop or a desktop?

G (a) 0-80
(b AT {b) 076
0-36

o A fc)
AT fd) 028

(d]

TODC-O-MTH /44D 19
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balls are reds
fa} 2/21
b 17
fe) 4/21
d 37

55. An um contains 5 white, 6 red and
4 blue balls. Three balls are drawn at
random. What is the probability that

a white ball, a red ball and a blue ball
are drawn?

ja) 28791
w27

fe) 24791
d) 23j91

56. Under which of the following conditions
may binomial distribution be used?

I. The number of trials is infinite and
not fixed.

1. The trials are independent.

{Il. Each trial has two possible
outcomes.

Select the correct answer using the code
given below.

(aj 11 only

fb) 111 only

i‘ﬂ 1 and I

{d) 11 and I

21
TODC-0-MTH /44D

B7. A person X gpeaks the truth 4 out of

5 times and person ¥ speaks the truth
5 out of 6 times. What is the probability
that they will contradict each other in
alating the fact?

fa) 3710
) 1715
fe) 1/6
fd) 7/10

BEB. The probability that a student passecs

Physics test is 2/3 and the probability
that he passes both Physics test and
English test is 11/15. The probability
that he passes at least one test is 4/3.
What is the probability that he passes
English test?

fa) 11/15
(b) 13715
fc) 14715

) 1

59, An event X can happen with probability

p and event Y can happen with
probability g Further, X and ¥ are
independent events. Which of the
following statements is/are correct?

. The probability that exactly one of
the events happens is p+g- pq.

[I. The probability that at least one of
the events happens is p+g-2pyg.

Select the answer using the code given
below,

fa) 1 only

() 11 only

{8) Both I and Il
{d) Neither I nor 11

[ P.T.O.




g0. Three faces of a d;

are white ang € are black,

o faces 63. An Inteper is chosen at random from the

- one face j

15 tossed three tlm:: 13 red. The dje firast 50 intcgers. What is the probability

probability that the fi}lu.;_t W'I]:g“ 8 the that the integer is neither divisible by
rs . : .

and red appear in the firg Gk Winlte 5 nor 97

third tozses L, second and

respectivelyp

W 1786 fer) TS0

b 18/25
v fc) 37/50
= fd} 19725
fd) 5/36

64. Out of 50 consecutive natural numbers,
two integers are chosen at random.

S-7 ST o0ln R Nagied. 4 times, What do What is the probability that their sum

the probability that two heads do not

occur consecutively? is odd?
fa) 1/8 fa} 1/2
fb) 3/8 fb) 24/49
fe) 7/16 fe) 1/4
fd) 1/2 (d) 25/49

65. The standard deviation of 100
observations is 10. If 20 is added to
each observation, then what will be
the new standard deviation?

62. In a throw of three dice, what is the
probability of getting one prime number,
one composite number and one number
which is neither prime nor composite?

@ 1/2 fal 10
| ) 1/3 . S
© 1/4 st
@ 1/6 e
23 [ P.T.O.
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n= 5

PiX = EI] = 04096 MX =3
What is the value of & p

(a) 02
fb) 025
fe) 03
(d) 0-35

67. The frequency distribution of the marks
obtained by students in a Science

el

: o
binoming distribution

e

examination is given below :

vrinlle lollowing
with porameters
Further,
= (3 20460,

Marks 5=15 | 15-25 | 25-35 | 3545
Number of
students 20 30 30 20

What is the arithmetic mean?

faj 20

&) 25

(e} 30

(d) 35

P(B)=0-4 and

68. If PlA) = 0-3
P{A|B) = 0-5, then what is the value

of P(B|A)?
fa) 0325
(b) 0333
(¢) 0375
(d) 0667

TODC-0-MTH/44D

69. If PlA)=1/3,  P(B)=1/2 and

PANB) = 1[4, them what is the
value of P(AWE)?

fe) 712
fb) 2{3
fe) 34
{df 11712

70. Consider the following statements :

I. Mean and variance have the same
unit of measurement.

II. Mean deviation and standard
deviation have the same unit of
measurement.

Which of the statements given above
isfare correct?

fa) 1 only

(b} 11 only

() Both I and II

fd} WNeither I nor 11

T71. What is the degree of the differential

equation
2 5
Ef.-iy- £ -[iy.]E 7
dx? dx
fa) 3
fb) 2
5
€ 3
3
(d) 2

[ P.T.O.
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7T2. What jg "+
J:l ["l. [-r]j "hp WI"H:'I"-I: I-I I“_ the TE. 1I1Irh!]_t ia j xdx — ¢qu3| m-?

greatest integer  funeti e 10* +10
natural numpers L
fax) ?—"E"_l. _ fa) tan~1{10%)+¢

2
m =tl

“ (B (In10tan~'(10%)+ ¢

1
fe) =

2
fdj 1 1 ta =1 IDI +e

(el Typan 107}
73. Consider the following statements :

L y=xe?* is the solution of fd) In(10* +107*)+c

dy 1

e Qg =

dx _y[ +.t}
I. y=xln|x|+ex is the solution of

oy _ %ty

£ . 76. A wire of length 20 em is to be bent into
Which of the statements given above a rectangle. Which of the following
isfare correct? statements is/are correct?
fa) 1 only 1. The rectangle of the largest area

is the square.
(b 11 only
3 : i

fe} Both I and II 1. It is possible to form a rectangle o

2
an arca of 27 cm”,
(d) MNeither I nor II

74. If k is an arbitrary constant, then what Select the answer using the code given
is the general solution of the equation below.
dy _ .2
272 2 g*?
(x+¥) -
fa) 1 only

fa) y+x= tan(x +¢)+ K

-
(b) x+y=ktﬂ“[i§—) (b) 11 only

;E:EJ fc) Both I and II
fc) x-y:ktﬂn[ i

(d) y-x=tan(x +e)+k (@) Neither I nor II

27 [P.T.O.
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70 L. L" ]m
Iy

vl Ty = L‘J L
W o s

iy, Ahen
Bllowvingy 1y

wly
(i)
]
(e
fel)

arree
o=ty = '

htly o
h =2y 0
I'“I - "_] = [}

T8, \
Vhat is the aren of the vogion bounded

by |x|s 2k :
Y X5 2k nnd lvl= K, where & in o
positive real numberp

(a) 2x2
(b} a4k
fc)
fed)

5k
ax

ihe

T9. Consider following  sinlements

regarding the function flx) = —1—%- -
X -

Statement=] :

Jix) is decrensing on the intervals
x<5and x> 5

Statement=]l :
flx) > 0 for all x ¢ 5.
Which one of the following Is correct in

regpect of the above alnlemenia?

fa) Both Statement- and Stalement=il
are correct and Stntemeni-ll

explaing Stntement-]
Both Statemeni=l and Stntement=11

™ are corrcct bul Stntemeni=ll docs
not explain Stntement-|

fc} gintement=l s correct  bul
guatemeni=ll is not correct

(ed) statement=1 s nol correct  bul
Siatement=1l s correel

TODC-0-MTH /44D

iy, Conliler (e following staloments |

Halemeni-l

A i
flx) = x_ v 130 Tinm
X

n minimum value A al x =4,

The  fune o

Stndemeni-1l
[ %)
Lin

An x Inoreascs through 4,
ohanges  algn  from  posltive
niagalive,

Which one of the followlng In coarrect in
reapoct of the above statementsy?

{) Doth Statement=1 and Statement-1l
nre  correct  and  Statement-11
explnina Statement-I

M) Both Statement-1 and Statement-il
are correct but Statement=11 docs
not explnin Statement-l

fe) Stntement=l s correct  but
Stntement-11 is not correct

fel) Sintement-l is not correct but

Stntement-11 is correct

81, In o closs of 45 students, 34 like o play
cricket and 26 like to play Tootball,
Further, each student likea to play ot
lenat one of the two games, How mnny
students like o play exnetly one game?

(a) 45
i)
fe) 25

(d)

40

13
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The syste
M of equnt:
S 86. Consider the following in respect of
2 — Ay-5. 0 non-singular matrices Aand B
¥ lsy—]ﬂx_'_sD:u

fa)

&) has 1.1-1li|r'1it|::]3-I many solution
o ]
fe) is Inconsistent

h i - =1 =1
% 2 unique solution . (Al '=A""H

. (BMAB)"' =1, where T is the

identity matrix
(d) is consistent g

solutions nd has exactly two N (Apy’ = AT BT
How many of the above are correct?

83. If

fr) MNene
[]_i‘)im[l"?i Zn Il.bJ One
1+i 1_'_'_]) =1
fe)  Twao
where i = J/=1, then what i i
y smallest
PU'Eih".-"ﬂ value of [m "ﬂ.:I?' f‘; All three
fa 1
b 2 86. The value of the determinant
a b ¢
e i m mn
L p gqr
is equal to
84. In obtaining the selution of the system of
equations x+y+z=7, x+2yt+dz= 16 a b
and x+3y+4z=22 by Cramer's I'I.II]I:, @ |p q
the value of y is obtained by dividing i
D b}' D?, whers
" s s | I m n
D=|1 2 3 b) |la b e
1. 3 4 p qr
What is the value of the determinant P q
Dy? fe) la b ¢
2 i n
fa] -13
a p |
-3
i fd) |b g m
c) 3 e r R
fd) 13
31 [ P.T.O.
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ET' L'E'I I' f|'|' [ﬂ?

!:E []]m
& ocul
]r.!;::-{_l mrﬂﬂ‘l:.‘r 3
- I H unity,
P & umﬂ + big,

4oyt .2
7 +2% equal (o7

v M= a2
then what g 2

fal Gab
) 3ab
rc; qi + I],:

fd} 1

88. How many 4-digit
divisible by 4 can b
diE“S 1-. 2, 3 and P!
is not allowed)?

numbers that are
¢ formed using the
[repetition of digits

fa) 3
B 6
fc) 9
(d 12

89. If a, b, ¢ are the sides of a triangle ABC
and p is the perimeter of the triangle,
then what is

ptc d b
c p+l:| b

P 1 p-l-b

equal to?

(@ p*
(b) 2p°
# 3p°

(d) 4p

90. Which one of the following is the greatenst
coefficient in the expannion of (1 + x)' 07

fa) ‘The cocfficient of x100

fb} The coecfficient of x7?
fel The coelficient of x5l

fel The eoefficient of x50

For the following twe (02) items :

A plane P is parallel to the line having direction
ratios {], 32 and contains the line of
intersection of the planes 6x+4y-5z=2 and
x-2y+3z= 0.

91, Which of the following are the direction
ratios of the line of intersection of the
given planes?
fa) (2 23 16)
fb) (2 -23 - 16)

(o (2332)

fd {-13 -2

92. What is the equation of the plane P?
fa) 2x-20y+29z+2=10
b) 2x=-20y+292-2=0
fe) 2x+3y+2z=-4=0

fdl] x-3y+22+5=0

33
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For the Tollowiy
i twe (02 |
lemy

suppose 8§ g e
1'4'|lti'llH LTI I"'HHE.‘H.

B0 1 Oy nned o, o, 4 !

: e amallest
& points A1, o 0,

93. What is e racliva of g3

fex) J ;

@ 2

1
fe) 3

fd) 1

94. On which one of the following planes
docs the centre of S lie?

fa) x+y+z-1=0
B x+y+z+1=0
fe} 3x+3y+3z-1=0

fd] 3x+3y+3z+1=0

For the following tweo (02) items :

Let A{L - 1, 0}, B(-2 1 8 and C|-1, 2 7) are three
consecutive vertices of a parallelogram ABCD.

95. What is the fourth veriex D?
(@ ©-21
() (20 -1
fe) (107
(d (1,30

TODC-O-MTH /44D

E 2
06, Il angle BCOD 08 A, then what is cos i
counal to?

feil 20T
fl)  2TFVT
fe)  B2J237

() B3/237

97. For different values of m, the equation
dy=mx - m+2 rcpresenta

{a) parallel lines
{b) concurrent lines

fe) lines at a fixed distance from the
origin of coordinates

(¥} the same line

98. The equation of the locus of a point
equidistant from the peoints |g &) and
cdis(@a=-dx+|b=-dly+k =0. What is
the value of X7

fal a® -e&* +b?-d*
) e? +d? -a® -b?
fe) (a?-c? +b2 -a?) /2

(@) (c*+d®-a? -p?) /2

[ E.T.O.




00, Consider the 3] | R
g

WMation 42 Sicn in

L T
" _"'"-"l,"i'l.uﬁm-.
“]l“lt“_‘.l'. T

| upwards,

! 1.

Rl ML T

he
Paraboly gy, g

TR

The axi
XiE of the Parabolp ig 4 . 0

| l L

'I_l i "
oW many of (e gtatements

above are corpeers Eiven

fal None

i) One
e} Two

fa] All three

100. What is the sum of the intercepts of

: the line
| E
ﬂ‘.'E bi az +h2
on the coordinate axes?
(a) 2
b 1
1
L] 2
(d) a%+b
TODC-0-MTH/44D

For the followlong two (03) Nems 2

Conalder the inetion flx) =1 ﬁ}r{t n?.
101, What is the domain of the function?
fal (1 =)
() (==, =)
fed (0 =)
fel) |- =)~ {1

102. The function haa
fa) n minimum at x =1
) n maximum at x =1

e} neither maximum nor minimum at
xml]

no extremumnm

(¥)

For the following two (D2) items :
Consider the function

x=0
x20

4(5%),

= Bk + x,

103. If the function is continuous, then what
is the value of k?

fa) ©5
fb) 1
fe) 1-5
{d) 2

37 | B.T.0.




W &
10, hat g ¥ i (1] equal o

fez) E]
g
3
b =1
) sins
4
el —
fe) 5ins
fdl 20ins

For the fellowing two (02} items -

Let u = _re" cosX dy and v = _[e" sinx dx

105. What is u+ v equal to?

@ -3
® -
o =
w <

106. Consider the following :

mn

=

=L

L

II.

Rl B2

Which of the above isfare correct?

fa) 1 only

() 11 only

@ Both [ and II
fd) Neither 1 nor 1

TODC-O-MTH/44D

For the following twe (02) items :

Let the funetion fix) = |x = 3] + |x = 4| be defined
on the interval [0, 3]

107. What ia fj::': at x = 3-5 cqual to?
‘

fal 0O
w1
fe) 2
) 35

108. Consider the following statements :

I  The function is differentiable at
x=3

1. The function is differentiable at
x =4,

Which of the statements given above
igfare correct?

fa) 1 only
{B) 11 only
fo) Both 1 and Il

{d} MNeither I nor 11

For the following two [02) items :

10 =107

Consider the function B,
= 10* + 10°°

109. What is f e f= fo fo fl0) equal to?
fm) 0O
{b) 1
e} 5
fd) 10

39 | P.T.O.




~ R

.1'1

ia) |Ugm.[g_,_:__u 112. What ia .:I—ime [ix) equal to?
@ 6
1
1] -ﬂ—lnﬁmﬁx— 1) w7
fc) 8
1 o fell 9
fe)] =lo ( 2x ]
3 “Eio T
1 1+
(e} Elnﬁlu[l_i] For the following three [03) items :

Consider the function fix) = x|x]|.

113. What iz lim [fix) equal to?
Ke=i=]

For the following two [02) items :. fa) -1
'u -

Let
&) O
1—::1232.:: . %20 fel 1
fg=1 0 5 e (d) Limit does not exist "
""T':':_ , x>0
Jii6 -4
(1% :5) 114. What is the area bounded by the curve
Fix), the x-axis and the lines x = -2 and
x=17
111, What is lim f(x) equal to? fa) 31
x—l-
2
@ 2 Blig =
m) 4 E
@ 5
) 6
fd] 3
) 8
41 [ P.T.O.
TODC-0-MTH/ 44D




115 Consider the follow

117. What is (1- 2)fWx)* xf

g Slatemeng .
l.  The function is i

¥ ne H .
INtETVal (~oo, o) reasing in e

II. The unetion

D 3 ﬂiﬂ:rﬂl“iﬂmc al
Which of the statem
o bin
is/are correctp "% gven Bhase
faj 1 only
{b) 11 only

fc) Bothlandll "
(d] HNeither 1 nor 11

For the following two (02) items -

Consider the function

flx) = 1:: (x>0 x =1

116. What is .ﬁ equal to?

flx+7
(a) -f(x?)
) =flx)
) fix?)
(d flx=1

(4% + 1 equal to?

fa) -fix) e

(b} flx)
fe) x
(d) ©

TODC-Q-MTH /44D

For the following three (03) items :

Let y= fix) = xainT % 0 1o £2,

h-x

118. What iz the slope of the tangent to the
curve y= fix} at x =0-57

fa) 4nJ3 f27
(b) BrJ3 27

fe) 4n -

{d) 8n

2
119, What is 4y at x = 0 equal to?
di":'z

fa) O
() 05
fe] 1

(d) 15

. d
120, If x = sinB, then what is EE equal to?

ja) Bsech
(b) Bsect @
fc) Bsec’

() 2tand+6sec?h

i \ [ P.T.O.




